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omplete the sentences.
In picture a, there's one cloud, but in picture b, there are . two clouds.
In picture b, the man’s got blond hair,but ina, he’'sgot . ... ... ... .. hair.

In b, the picnic rug is square, but in q, it's
In picture @, the helicopter’s flying, but in b, it's on the
In picture b, thecar's .. .......... , but in picture a,
In a, the man's shirt is .butinb, it's

...........................

In picture a, the trees have got , but in

....................

it's

.......................

b, they



